FORMS OF THE LINEAK FUNC LIUIN ULINGIVAL
EQUATION

y=mx+b Slope-intercept form.

y — yi = m{x — x;) Point-slope form.
(xs, ) is a point on the graph. g
“Ax + By = C” form.

A, B, and C stand for constants.

Ax+By=C

Objective:
Given an equation in point-slope form. plot the graph quickly, and trans-

form it to the other two forms.
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a. Plot the graph quickly.

b. Transform the equation to slope-intercept form.
¢. Transform the equation to Ax + By = C form, where A, B, and C
stand for integer constants.
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ify-5=-30+1),

Solution

a. From the equation, the slope is —. A point on the graph is (—1,5)
because substituting 5 for y makes the left member 0 and substituting
—1 for x makes the right member 0. The graph is shown in Figure 3-3.
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y—5= —%(.x+ ty

Figure 3-3

b. The equation can be transformed to slope-intercept form by distributing
the — 2, then adding 5 to each member.

y—5= —-;—(x-i' 1),
y—5=-15x-15
y=-15x+35

c. Starting with the answer in part (b), you can add 1.5x to each member,
then multiply by 2 to make each coefficient an integer.

1.5x + y =35
3x + 2y =7 - E
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For Problems 1 through 20, plot the graph neatly on graph paper. Use the

slope and y-intercept, where possible.

1. y=42x+3 2. y=3x—-1
3. y=-3x—4 4. y=-ix+3
5. y=2x~-5 6. y=3x~2
7. y= -3x + 1 8. y=-2x+6
9. Tx +2y =10 10. 3x + 5y = 10
11, x -4y =12 12. 2x -5y =15
13. y = 3x 14, y = -2x

15. y = 16. y = -5

For Problems 1 through 10,

a. Plot the graph, showing clearly the point and slope that appear in the
equation.

b. Transform the equation to slope-intercept form.

c. Transform the equation to Ax + By = C form, where A, B, and C are
all integers.

3 2
1. y—-2—§(x—1) 2.y 3—-5-(x—6)
7 7
3. y+4=—2-(x—3) 4. y+l=§(x—4)
1 1
5. y-—6=—z(x+2) 6. y-—2=-—5(x+5)
7. y+1==2x+4) 8. y+6=-3(x+2)
9. =%(x— 12) 10. y—5=2x
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